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Write short answers mii!n; SIX parts. EMIIHLH
Define pure quadratic squation. i*,"::.;f,ﬁ,f.-.r l'-'ﬂﬂi‘."'lb (i
Soldve by factorization: kI x-20=0 ek 20-0 EJULLL )
Fimd the nitire o coots of the oquntion x° -5+ 5=0. _if_'lf#f&gﬁ_-ﬁ I _se5-0 abie (i)
Evabumte: {1~ J0—Ju®) 0-du-P aland (v
e d S o o P Rl xf 4 pu bl B i

W@, e the roots of the equation x? 4 py + g = 0. then evaluate o2 4 p?
R e DA TV | CRT

Use symiletic division o find the quotient and remainder whes g:l,2 “Ta=1)+ix
i 3dx =S =2x =Y find the ratio x : s S-S ==y ST iy

|
H"'Tj'mdA-zwhum:a,Eindrwhmn-'.'z. A= _J-Jr_,,:_ r-],__.?h-l_,uﬁm-'-_!-!- {viai)

Find a fourlh proporticnnl in 5, 8 15 & 58,15 B ()
Wrile short answers o any SIX parts. .\6 -Emguﬂﬁ.lzqndf

Diefire impraper fractian. BT PRI S

S | 1_.2 -
it e S 2 _ = 1
Eesolwe the fraction T Q&mn_ -éﬁt#fﬁ"-‘l’ "_:-ﬁ;;j'_. [i1i
Toefine binary refation. o L ede i
\ e YUKy ez 0,8, 0)e0X=01,4,7,91.50 (iw
X=(1.4,7,%]a - o8 8 ikben find Y UIX.
ALY % X o X% Y G ¥ =[d,e) e X={a.b.e} (¥
Ki={la =4, e }eoiben find ihe number of elementsin Xx Y amd ¥ x X
g ;'.Er:""u.f'!gfl: Made(3=2,b-1)=(a -7 45N iy
Ir¢i- J={a=7,2bs5), then find the value of & and b,
D fine arithanetic neean, -#—J—!'fi.':lf‘ﬂ.!'-"' [vii]
Find range for the following weights of the sudents; i Lo e uiid)
PI0, 0%, 84 B9 77, 104 74,97, 48 50, 103, 62
Find hammen ¢ mean for ibe dais: |_!'.' |_I_:!_!_i I__l ll_i ErPiabiE )
Write short answers to any SIX parts, -ﬂ.ﬂ.l,l.tﬁalzligijf
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Diefine acute angle Ly AL e (v
¥hat is meant by chord af & cirgle? 1 Cealoblc Ale 2t (v)
Define secant. LAl )
Wihat is mear by segment of § clrcle? T slollenina? (i)
Diefine circum angle. R i AL (i)
Dafime disgmieter of a cirele, Ao AR5y (i)
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Part = II, Atempt any THREE q1.|¢sl:i-!::|'|=-. Each question careles D8 marks, lf}ul:_u:i:l_:n

9 is compulsory,

Solve the cquation by completing square: x2 - x=195=0 ﬁ._,}'.;_
m i ilas, ;_.':L- 'l.‘-'.=L . ﬂz F:,l.hf;.-".h.u"'_' x *

IF iz, b are the roots of the equation x2 px 4 = 0. form equation
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rools are g % .

boode0)ab=e:d S (i)

Wabweid , (a,b.e,dw0) by using k-method a E:—% u-z-”:%.
35 5x? 3, el
Resolve knto partial fractions: -'5-":1'.’..5?5.:1$ .@.E.j*'_ﬂ_ﬂ_ #£¢HJJH (i)
LS - 2% -1
SE T C= (1,58, 10): B= CT0F A=[1,3,8,7,8) U= {1,2 3 4,.... 10000 ()
@UCJ-(M"IH']UMﬁQ
IfU={L2.34,....10 23, 7,9), B = {1,4,7, 10}, C = {1, 5, & 10} then verify that

MBUC)={ANB LA NC

&S b .z hiBauFhibgL (L)
The sularics QQ in rupees are a8 follows. Determing standard deviation,
L1500, 12400, 15000, 14500 , 14800

. seclh+l _ secl+1 seeth el sech+] { )
Prove tha: secl-1 tan sccl=-1 tan 0 'ﬁ.ﬂ*

&AL i 6 ST L o) L et 2a (L)
Diraw two equal circles of each radius 2.4cm. 1T the distance between their centers i< Bem, then
draw their iransverse tangents,

B LSO ol Sl on ol e ST
Prove that iwo chords of & circle which wre equidistant from the eenter, are congruent.
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Prove thut the oppasite angles of any quadrilateral inscribed in & Gircle are supplementary.
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